


DISTANCES FROM CENTER OF ROADWAY FOR CROSS-SECTIONING.

Roadway 16 feet wide. Side Slopes 1 on 1.
For Single Track Embankment.
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Example—If point is 22.6 ft. above grade, how far should it be from center line
to be a slope stake point? Ans, from Table 30.6. For same slopes but other widths
of roadbed, correct above figures by one-half difference in width of roadbed; thus in
example above, for 20 ft. roadbed distance will be 30.6+(20—16)+2 or 2 ft. added to
30.6 =32.6. For slopes of 1 on 114 see inside of bacek cover.

Copyright, 1914, by Eugene Dietzgen Co,

20 09 00 &0 &0 &9 0o S0 09 &0 &0 &9 &9 89 & &9
>
Qr

oM BN

&0
=
o)

€0 €9 DO DO BO 1Y 1D 1D 1 B b9 DD = =t ot i

00 02 O N
RN SR
coooocoo

"'VC

RO

PO LWON NN K

)
[
[}
&
o

9 00 00 o
WO ©

H= 0O D
\1,@:‘;1:{—00_[\3)—49@
oo oo
C
(VU
O O =
[P JeRSLRVURUL)

OO W

0O 00 09 GO €O O GO &9 &
19 19 10 10 19 19 b9 10 10 10 B9 19 b9 19 b9 b0 10 19 1o bo |

S G
[ EULRJLRLR)
OO0 Ut OB

o
0 80 00 00 00 0o 0o T &0

W i 09 00 0O 69 60
=HOoO©0

B . €0 G0 69 69 69 60 6o
)

W s
G0 0O

INHOLO 0L N O OUR O S O ¢

00 00 00 00 GRG0 X0 GO G0 GO 4o Q0 GO 0 GO GO o B0

w—=o
Pt et et ot et et o ot ok o ol et ok e ok ot

LOHODWISGA

S S i €0 00 G0 60 GO &0
=~

-~

5%

TN
SO
w0
PODPRIIDDRDRDHH Do

3
3
3
3
3
3
3
3
4
4
4
4
4
4

ocoococooooboo
00 20 Lo Lo &0

N

B
SO O LRNS Oy
ESES BN ER PR PRRR TR RS PE S

H

SO DRSO DBt
[N
i
00

S s B

46.8

W
NOUNA W -O

~3
-
>
-3
(V%]

%%%%%%QWAQ

W
PNS
[=2X=rF=>]
S
i =2]
ESeK




g )
2




5= o
m.

o ot ot ok ok | e

et
(<1

e

A

—— l‘““‘r—_







By

omqmmpwmugﬂ 'r'ﬂJ[










,~' ‘:f X
A -

'

:‘

H
0
1
2

-3
4
5
6
7
8
9







~
N
0
b4
N
L
2l













Sepok zg-Bs.

/lz Bo/&o{; | Las

;170 fas/is %

j /C/'/“/y frar S L Fdesr cvetis "7 L
f 2 it G sresrl Ge S 1oz ffe 5% :

/7/(4’/'\/ »//~ = of / & / /C:-’l.‘, - v B -

s . O e







”
Crd
/

y

-l TP 2#E

27-272

56/?% :

t

)

\

Ny
9
¥
3







‘i-:'-,fi.‘f'.z S - 3%

-

I PICN & tf’/,"x-a‘f ]
e |

for+ e b

L

/ bla/c .,kv‘

&
J

S A /'///;-,7,-,‘_, o+ %ﬁ;:«/ frpg ST

/'(,‘/"//!r' ’/.M.«w =, f, 9/”-{/ o







b ss Gebirsg | @ A
g y

ok woa redes

/ camel

.C»"O//Je', P e







/ J o~
o/ /:s el Qui @
¢
Ry /T irCs
Lry oria /7 1> /78K & ' iz B b s vt iisi

ey /2 e, 4 125 -8 ; : # ]‘raa.u',

I3 - 7 ‘ . X /
the 24 PlLRe w2as af rnax) i 1kl e inh BRI O/

e

I
[~ / W B N










Va2V Y Hu/
/

;

/M/Hf.‘: "2 4 &
i

s’ i sk

¢ 55 /8 /Jz‘-,/’ry.l g
) -
/ -

4_ ; /
b ”g .y

»

N Xty




A\
N
PR ¢

4 EIEL

-

























e Lowzd

/
aereey q/.:u/;
/

Gy 522 & LN




A G, Wil a7xs | i

L

V. ]







/.

‘,..
L3
8
v
]

b
\Y

.3

v




\
v/a

-
,/
&

Weyty= o ver










N
)

/

¥ )

= Py ) 3Rt
ap = pl PP o

I

/? o e
gl bes










=/ 3495

= fE5PGE

B = JBD8O
5.8 Z2) D

I}S'm :

2,9 231¢. .cs‘»ms
: 53» ©2343.00 =444

34
3¢
Cags -

i

-.ooooqo.."ro-ooco-ue

, \; \
n ‘.o:go & Sa e

lveqe
|8
|42 =
e D=
7 7= 4

1.4

e 2
724 =

1A% =

13 o=

= 4l
A0

| 78y,
=IO
;o; = 468 a4
$8 = gyaeiin
.80 9 IBe-ie
22~ oaciza
5T o 1028222

= 4,62 »[20833.4

S100 <14 48s3
S22 545 23
3'4.$ A.'87S‘93.D




|35 AV wp r J - . ‘.
310 Pl w se91"
*'I =‘4'= I 7.0:: - -"_( : ‘ ut“z
B apar 20 e 20 hG. 2Ry
:':: = 25301 *"g 4 .::7 L'P! 1:‘

AD D » A 3,32 )12

40 e AL * ! ¥
Py R Ak Uy nst JELT 4,0

4‘ﬁ = 144 :4,@, 'wo 4.5.‘7‘4‘3

£l = lﬂ-'ﬂ"-
Bt 5o b B 328
&_,);"’-I ) (i P (/£ L




2 ot

7

reorrvviiiy































. B T e ——

e e e e













——— - E

" ey e - . . ‘r.w
e e AT A i | Sl do b i






















T




s R e

















































;DISTANCES FROM CENTER OF ROADWAY FOR CROSS-SECTIONI}
Roadway 16 feet wide. Side Slopes 1 on 17,
CALCULATION OF EARTHWORK. / For Single Track Embankment.
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Table gives cu. yds. in 1 ft. of a triangle of given width and height. Corrections for )
tenths of width are one tenth the values found under each height considering the widths 679
from 1 to 9 as tenths and similarly the corrections for tenths of height are one tenth the 69.4
figures opposite width considering the heights from 1 to 9 astenths. Thusifw =16.2 and 3
h =5.8, cu. yds. =1.484-.028+4.089 =1.597 cu.yds. orpractically 160 cu. yds. per 100 ft. | |
If wexceeds 40 ft., use one half and multiply result by 2,if both w and h are large use S = =
one half of each and multiply result by 4. Any cross-section may be divided into Example—If point is 22.6 ft. above grade, how far should it be from center line to
triangles by the followingrule. To the triangle of the sum of the outside cuts (or fills) be a slope stake point? Ans. from Table 41.9. For same slopes but other widths of
=h, and 14 the roadbed =w, add the triangles formed by taking the distance out to each ' roadbed correct above figures by one-half difference in width of roadbed; thus in example
break in turn ( =w’s) by the difference between the cuts (or fills) on each side of it ( =h's) above for 20 ft. roadbed distance will be 41.9+4 (20—16)+2 or 2 ft. added to 41.9 =43.9.
always subtracting the outer from the inner. For slopes of 1 on 1 see inside of front cover, S K

Made in Germany.
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